5.3 Lines of Best Fit

Line of Fit: A line that is used to describe the data.

Ex.: The table shows the average cost of a jet boat in the years after 2000. Write an equation to
represent the data. Then, use the equation to predict the cost of a jet boat in 2005 and 2025.
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i. Draw a line of best fit.
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2. Draw aline of best fit. {Try to draw a straight line that cuts through the middle of the

data.

3. Write an eguation. (Using two points that the line either passes through or is the closest

to}
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4. Use the equation to make the two predictions.
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5.3 Lines of Best Fit

Ex.: The data show the median prlce of an existing home from32010 to 2015# ¢

Year | 2010 1 2011 2012 2013 [ 2014 | 2015 |
Price | 222,900 | 226,900 | 238,400 | 258,400 | 275200 | 296,500

a. Use the points (1, 226.9) and (4, 275.2) to write your equation for the line of fit in slope-
intercept form where x is the number of years since 2010 and y is the median price in

thousands of dollars. {=mxib 42l 0.8
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b. if the trend continues, what will be‘_'m_era_pproximate median price of an existing home in
2025?
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Ex.: The table shows the average length in minutes of professional baseball games in selected

years. ' n o

Sk, Y N S S SR SR
Year 2005 | 2006 | 2007 | 2008 | 2009 { 2010 | 2011 |
Time (min) | 169 | 175 | 175 | 176 184 180 | 183

a. Make a scatter plot and draw a line of fit
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b. Use the data to predict the average length a,f
of a baseball game in 2023. Round to the ?’
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